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M M HNoEE W = 210Kg
hG EINETS hG= 40.0 cm
RILER/RY (5Ei) LA= 464 cm
| | G FH | v (§38) LB= 56.0cm
4 RILEAND LGA= 232 cm
ELFETOIER LGB= 280 cm
¢ WAEY ﬂ*{)bhjﬁrz“ M10
< LGBy | IV n= 4XK
LB
BEERTRIZESE. hEFRHBICHTIHERLZR
RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxW x9.8] 205.8 N 308.7 N 411.6 N
REtHSEME RN FV=FH/2 1029 N 154.4 N 205.8 N
7oh—iRILEBliR B RILR R/ 558 AI(RbA)
R FH xhG + (W x9.8+ FV)x(L-LG) 165.9 N 223.1 N 280.3 N
L x nt RILE R/ KID{I(RbB)
*L:LAXIZLB, LG:LGAE1=IZLGB. nt=n/2 150.7 N 200.3 N 249.9 N
Toh—mRILNEAMIGHE
S RIL BT E RS 93.5 N/lcm?| 140.3 N/cm?| 187.1 N/cm?
n-A A=055 cm?
B7oh—OEMHRSIREEICHTIREE
HEMIEBIERTVH—HRILN(ERLR)
o 22.9 f& 17.0 f& 13.6 f&
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWMIEHEICHTIREE
RJLE(SS400)
108.0 f& 72.0 & 54.0 &
EEA R AW SE 101 kN/om®
AT L ARV (A2-50)
7 975 & 65.0 f& 487 &
SEEISE R AW S EE:9.12 kN/cm?
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